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(a) % B (temperature) : .

(b) 4% (potential temperature)

(c) 8 i :% (equivalent potential temperature) -

(d) #2448 % 1B (saturated equivalent potential temperature)
Given parameters:
e=R,/R, R,=287Jkg” K™, R =4615Jkg' K"

¢, =1005Jkg" K", ¢, =T18Jkg" K", c,,., =4187Jkg"' K¢, =2050Jkg" K’

1,=333x10°Jkg™, 1,=2.50x10%Jkg™, 1, =2.83x10°Jkg”",
p, =1000kgm™ (water) p =917kgm™ (ice), p, =1.2kgm™ (vapor),
es = AexpP/T,A=253x10% kPa,B =542 x 103K
e = AexpB/T,A =341 % 10° kPa,B = 6.13 X 10* K
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fIce and snow feedback is a positive or negative feedback? It is via longwave or shortwave?
Why?] .
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[Water vapor feedback is a positive or negative feedback? It is via longwave or shortwave?
Why?]
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